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Question No. 1
3WXA:B=7:8B:C=8:113RC:D=11:14% @ A: D & A H 9l NT|
A)2 11 B)1: 2
C)3 : 1 D)3 : 2

fA:B=7:8,B:C=8:11and C:D = 11: 14, find the value of A : D.

A)2:1 B)1:2
C)3: 1 D)3: 2
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3610169687&qwer=1)

Question No. 2
AR Jwalr # FEuEt d 9§ 3R A Re e o #:1 Ier & Fee 3R sad gl W fr oo
sfeat § e e Rorar (@ed o1 38 AR & §)1 & o fare 3o @ g3 S S 3R S g Ay
g7 &1 W, I B g F FRAAT GET A ) ST M G §, Gl F RaRa g R swF @
et 3R 30T §| g & Flerar FYA TE E?
A)AY, Folrer T a1 & BT, 24T & e ¢
C)31eet, f&Aar &7 97 g D)f&rdr, sfadar 1 Ffaa gl

Read the following information carefully and answer the question given below. Manoj and his wife Ramya
have two daughters named Smita (youngest daughter) and Devi. Devi is married to Ajay who is the son of
Jagan and his wife Madhu. Rakshitha is the daughter of Ajay. Kavitha (Elder than Ajay) who is Ajay's sister is
married to Sunil and has two sons Anuj and Arun. Which of the following is "True'?

A)Madhu is Sunil's mother-in-law B)Jagan is Devi's maternal uncle
C)Anuj is the son of Smita D)Rakshitha is the cousin of Kavitha
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 2) (objection.aspx?qwr=3610169687&qwer=2)

Question No. 3
g 12 Alegry 9 W Ahar 4 Aegad & Wy {eF & S M FATH &, A A1 qfaRrd sy w=ar g2
A)25% B)50%
C)20% D)30%
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If on selling 12 notebooks a seller makes a profit equal to the selling price of 4 notebooks, what is his percent

profit?

A)25% B)50%

C)20% D)30%

Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 3) (objection.aspx?qwr=3610169687&qwer=3)

Question No. 4

T g 600 #r ol TsH ' 5 AFs 7 IR Far §1 3TH afa Feveer F w=r &2
A)3.6 Tra/eer B)8.4 farafi/eer
C)7.2 ferafeer D)10 frefi/eer

A person crosses a 600 m long street in 5 minutes. What is his speed in km/hr?

A)3.6 km/hr B)8.4 km/hr
C)7.2 km/hr D)10 km/hr
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 4) (objection.aspx?qwr=3610169687&qwer=4)

Question No. 5
I g THA el SRt FF 'SWIMMERS' &gl SiIar §, (e} geier arel 3 FLYERS &gl Siam §, dieir
TgoT ardr #r 'SNAKES' gl aiar § 31X 33« arelf @ 'HUNTERS' gr ST §, af 'LIZARD' &RIT $gelleam?
A)SWIMMERS B)HUNTERS
C)FLYERS D)SNAKES

If the animals which can walk are called 'SWIMMERS', those who crawl are called 'FLYERS', those living in
water are called 'SNAKES' and those who fly in the sky are called 'HUNTERS', then what will 'LIZARD' be
called?

A)SWIMMERS B)HUNTERS
C)FLYERS D)SNAKES
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 5) (objection.aspx?qwr=3610169687&qwer=5)

Question No. 6

39 god 1 IR F1a ST Sraewr dawer 314 F02 § (m = 3.14)1
A)6.2 TFY B)62.8 T
C)12.8 q#Y D)32.4 T

Find the circumference of a circle whose area is 314 cm? (11 = 3.14).

A)6.2 cm B)62.8 cm
C)12.8 cm D)32.4 cm
Answer Key: B Your Response : Not Answered Raise Objection(Question No. 6) (objection.aspx?qwr=3610169687&qwer=6)

Question No. 7
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ASAAT/FAFAT FT 30T HET T F HRA A AN
A) FarfRATeT B)Tarf@#T 3k MGNREGA gkt
C)MGNREGA D)= &1 3HfEsR (RTI)

Which of the following schemes/programmes is/are mainly aimed to bring inclusive growth in India?

A)Swabhimaan B)Swabhimaan and MGNREGA
C)MGNREGA D)Right to Information (RTI)
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 7) (objection.aspx?qwr=3610169687&qwer=7)

Question No. 8

HITHr AT A T 7T Fe Fr TG g A § QU HEM? 24 1 144 2 18 : ?
A)74 B)78
C)84 D)81

Which number will best complete the relationship given below? 24 : 144 :: 18 : ?

A)74 B)78
C)84 D)81
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 8) (objection.aspx?qwr=3610169687&qwer=8)

Question No. 9
et & & Fleel avg IHadt g F wfPe 82
A)es Ffaast B)dGIR 3 Helr
C)creq D)agﬁr

Which item out of the following is contained in the concurrent list?

A)Trade Union B)Markets and fairs
C)Tolls D)Agriculture
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 9) (objection.aspx?qwr=3610169687&qwer=9)

Question No. 10

522, 1476 31X 1824 Fr yoier: FAsnfoi e arel W@ 3 HE&Ar AT AT
A)4 B)8
C)6 D)2

Find the largest number which exactly divides 522, 1476 and 1824.

A)4 B)8
C)6 D)2
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 10) (objection.aspx?qwr=3610169687&qwer=10)

Question No. 11
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L fRa fragr e
AT B)dI3s
C)3lek D)ATR

What is the currency used in Britain?

A)Euro B)Pound
C)Dollar D)Mark
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 11) (objection.aspx?qwr=3610169687&qwer=11)

Question No. 12
T AT A 3R T A gU, TF aFh A Fgl, "aw AY AT F Fohelld 9 B I F AR B R A
g 3T ufed dshr @ fFd YR |6l 82
AT/ B) Rrar
C)oTs D)eTE/=1TetT

Pointing out a photograph, a girl said, "He is the son-in-law of the grandmother of my mother's only son." How
is the man in photograph related to the girl?

A)Brother-in-law B)Father
C)Brother D)Grandmother
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3610169687&qwer=12)

Question No. 13
3R AR 3F & PRl IR SdisEr § & & & 39% ot & 99w w6y § ofar R osw A3 A §
PROBLEM : 2948375 3R SHfAT U Wy aeiid ¢l Peifaf@d # & <l wog & wefta =7ef 872
A)BORE : 8497 B)OMEP : 4572
C)LBOR : 3849 D)MOEP : 5972

Three of the following four combination of alphabets and numerals have the same relationship between their
elements as in the case of the pair PROBLEM : 2948375 and hence form a group. Which of the following
does NOT belong to the group?

A)BORE : 8497 B)OMEP : 4572
C)LBOR : 3849 D)MOEP : 5972
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 13) (objection.aspx?qwr=3610169687&qwer=13)

Question No. 14
SRAT frewr 3R TN v e T F Rua &7

A) 3EFETETE B)as fewelr
C)Ass D)gor
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and Television Institute of India located?

A)Ahmedabad B)New Delhi
C)Mumbai D)Pune
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3610169687&qwer=14)

Question No. 15

T.15 3 Us ¥ Jua, TF AfFT HY 3WH AR F 1/16 T Hr gifwr gl §1 AT F owra H{ew AT fifawl
A)¥18 B)%21
C)%16 D)%20

By selling a pen for Rs.15, a man loses one-sixteenth of what it cost him. Find the cost price of the pen.

A)Rs.18 B)Rs.21
C)Rs.16 D)Rs.20
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 15) (objection.aspx?qwr=3610169687&qwer=15)

Question No. 16

et 1/3 3R 1/9 & #ew fFaar Rest ghal?
A)2 B)3iaid
C)3 D)6

How many fractions are there between the fractions 1/3 and 1/9?

A)2 B)Infinite
C)3 D)6
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 16) (objection.aspx?qwr=3610169687&qwer=16)

Question No. 17
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A a7 269 3,58

B. [1L23 456 789

C. |u3s8579 246

D. B & &5 Al

Group the given figures into three classes using each figure only

once.

()
® ole
1 @
(6)

@ PG
(7)) (8

O Bl 4

3) @) (5

9

A a7 269358

B. [L23 456 7853

C. |L3,8579246

D. |Noneofthese

Answer Key : C  Your Response : C (Correct)

Raise Objection(Question No. 17) (objection.aspx?qwr=3610169687&qwer=17)

Question No. 18
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9 = o IUA-3T HiSleT W 5.30 TY vl Al cufed S o
3foF @ el 3 el ganr @ A 75 For AR FaAw|

A)%.292.50 B)¥.290.50

C)%.260.50 D)%.400.50

Out of 9 persons, 8 persons spent Rs.30 each for their meals. The nineth person spent Rs.20 more than the
average expenditure of all the nine. Find the total money spent by all of them.

A)Rs.292.50 B)Rs.290.50
C)Rs.260.50 D)Rs.400.50
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 18) (objection.aspx?qwr=3610169687&qwer=18)

Question No. 19
2018 IrgHse Wall 3 AR G@RT S T geahl A FoT FEAr fcedr &2
A)62 B)66
C)68 D)58

What is the total number of medals won by India in the 2018 Commonwealth Games?

A)62 B)66
C)68 D)58
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 19) (objection.aspx?qwr=3610169687&qwer=19)

Question No. 20

Z0T 3 XY AT 74T 74T 2)

X

®|F v
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X

®[F v

s | o o Mo
C. é—t D. @ﬂ

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3610169687&qwer=20)

Question No. 21
e Ay W& #1 5%, 22.50 §, oY 9 H&AT AT HI
A)450 B)460
C)334 D)390

If 5% of a number is 22.50, find the number.

A)450 B)460
C)334 D)390
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3610169687&qwer=21)

Question No. 22
Afaf@d & ¥ Flaar Anr AN 3F F [ W F & F FRF R 82
A)TTSErETH B) ATscICallsH
C)ersarad D)ATSeIhI TS AT

Which of the following cell organelles acts as a power house of the cell?

A)Ribosome B)Cytoplasm
C)Lysosome D)Mitochondria
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 22) (objection.aspx?qwr=3610169687&qwer=22)

Question No. 23
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10

How many triangles are there in the given figure?

N\

10

Answer Key : C

Your Response : C (Correct)

Raise Objection(Question No. 23) (objection.aspx?qwr=3610169687&qwer=23)

Question No. 24
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PO S I S N O IS s
Simplify: [51 : IIZ-E[ZE-Z-E]H

A. |66 B. |69
C 96 D. |126
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3610169687&qwer=24)

Question No. 25
14 ab?c®, 25 ab’c? 3R 60 a%b?*c &1 HCF I Hifaw]
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A)abZc B)ab?*c?

C)2 a%b’c® D)5a%bc?®

Determine the HCF of 14 ab?c®, 25 ab®c? and 60 a?b?c.

A)ab%*c B)ab?c?
C)2 a%b*c® D)5abc?
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3610169687&qwer=25)

Question No. 26

F R 8 ast F ge @ el g S §1 e a¥ F 77 go fr e T g Swead?
A)12 ¥ B)10 a¥
C)24 a¥ D)16 a¥

A certain sum of money becomes two times of itself in 8 years. In how many years will it become three times

of itself?

A)12 years B)10 years

C)24 years D)16 years

Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3610169687&qwer=26)

Question No. 27
3 WA #, UF FUS o war § Owd A o frsed R aw 1 3w A @y g S afde w9 § we
39gFT ¢ FYer: UF Radr frde A A, v O9 @ SAIT AT FoT & 250 A s § 140 W dearait
@Rt FaTT AT A fasnd: 1) &7 F 80% dgarer nfAe 1 1) YTITH T e Al
A)dad sy (| aRome g B)I 3 Il grAt aRome gl
C)a ar | 3k a & Il aRome & D)ahad sy | gRome &I

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) that best fit(s)
logically. Statement: In a one-day cricket match, the total runs made by a team were 250. Out of these, 140
runs were made by bowlers. Conclusions: I. 80% of the team consists of bowlers. Il. The opening batsmen

were bowilers.

A)Only conclusion Il follows B)Both conclusions | and Il follow

C)Neither conclusion | nor Il follows D)Only conclusion | follows

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3610169687&qwer=27)
Question No. 28

3T Y& & oAt HETHA FeT §?

AgAH T HI5 adhed AgT B)UHT T3

C)asH Jehr D)&for@r ger
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Wi ief Minister of Arunachal Pradesh?

A)None of the options B)Pema Khandu
C)Nabam Tuki D)Kalikho Pul
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3610169687&qwer=28)

Question No. 29
fg 148.009 + 341.981 - 146.305 = 123.6 + a §, ¥ 'a' F A AT H<|
A)120.85 B)120.085
C)230.085 D)220.085

If 148.009 + 341.981 - 146.305 = 123.6 + a, find the value of 'a'.

A)120.85 B)120.085
C)230.085 D)220.085
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3610169687&qwer=29)

Question No. 30

oS I Req Aer gfad 77 & HART S g
A)gRemom B)#ERTSE
C)Ierrd D)df@eraTg

Surajkund International Crafts Mela is celebrated every year in the state of-

A)Haryana B)Maharashtra
C)Gujarat D)Tamil Nadu
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 30) (objection.aspx?qwr=3610169687&qwer=30)

Question No. 31

FIFA 2018 &gl 3mafaa frar a/r ar?

INCUERH B)¥deT

C)tTaTst D)&H

Where was FIFA 2018 held?

A)Brazil B)Spain

C)Japan D)Russia

Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3610169687&qwer=31)

Question No. 32
RY 3ifg i I FEEr 6400 §1 I 37 MG F7 30% WER §, o FRERT Hr F&Ar F1 9ar Jend|
A)4920 B)4480
C)3720 D)3280
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f a village is 6400. If 30% of the population are literate,

illiterates.

A)4920 B)4480

C)3720 D)3280

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 32) (objection.aspx?qwr=3610169687&qwer=32)

Question No. 33
Ffaf@d Sl # aaueiyEE 9§ AR S Re vy &1 ser &1 3mor, aren, sdon, |9, B, due
3R Frff v T & dT oF §1 F FAm P, Q 3R R F v § Far i o waw F st & @ wA &
1 & TS Y e, ae, &, D, Fem, @ 3R T F F v W1 96 ¢, I8 FA Qe awas A8 g
a1, FET Q F Fad ud F YT Ygar g, A el T g8 §1 31%0T, FET R & ggar § 3R ar ar 3& e
v § o & & o, FE R F A8 ggar § 3R dow 1 TG Far ¥ Fhor AR Ay v & FAw F gea §
AfheT 3FOT & T AET &1 ST T 0T P ¢ § S Fam P 7 ggar & 3K b qdeg Far g T Frer
THE § 9% FET Q F ugar §1 W A o W1 960G §1 FAOT Y SAew 1 AG T ¥ T oAt F & wlear

fARaa &7 & a9 &2
A)FRETT R—3ET—ATell B) &l P—fasig—ahrelr
C)aheTT Q—aprff—sirelr D)z & $IS AGT

Read the following information carefully and answer the question given below. Arun, Bala, Praveen, Sonu,
Vijay, Deepak and Karthi are seven students of a school. They study in class P, Q and R with at least two in
anyone class. Each of them has different choice of colour from blue, red, green, yellow, black, white and
brown, not necessarily in the same order. Bala studies in class Q with only Deepak who likes red colour. Arun
studies in class R and does not like either blue or green. Vijay does not study in class R and likes yellow
colour. Praveen and Sonu study in the same class but not with Arun. None of those who study in class P likes
white. The one who likes black studies in class Q. Sonu likes brown colour. Praveen does not like blue colour.
Which of the following combinations is definitely CORRECT?

A)Class R—Arun—blue B)Class P—Vijay—black
C)Class Q—Karthi—blue D)None of the options
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 33) (objection.aspx?qwr=3610169687&qwer=33)

Question No. 34
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T 0 taodl 9 9 o6 8T w0 o4 o1 A o7 fou 7w == 7w g (2)

ONONO
®006
ONORO

Choose the number from the given options that would best replace the
question mark (?) in the figure below.

®060
ONONO)
ONONO,

A 6 8
C 10 D. |12
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 34) (objection.aspx?qwr=3610169687&qwer=34)

Question No. 35
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(32)3_(15)§ T /I AT Rl

4 3
Findthe valueof(32)5 - (16)*
A 2 B. |4
C 8 D. |16
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3610169687&qwer=35)

Question No. 36

AT & Heedl & 'GMT' &1 Har 3 &2
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B)#afaT Al ersA

C)aeRer ARSI erza D)7l HieT ersH

What does 'GMT' mean, in the context of 'time'?

A)None of the options B)Greenwich Mean Time
C)General Meridian Time D)Global Mean Time
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3610169687&qwer=36)

Question No. 37

HRT ¥ Ugel aBEd Bl A?
INCIERCanT) B)fafera# sfcs
C)fae Fallsa D)dS Sergar

Who was the first Viceroy of India?

A)Lord Canning B)William Bentinck
C)Robert Clive D)Lord Dalhousie
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3610169687&qwer=37)

Question No. 38

AR & AU & AT Feled! H ¥ faw T
A)TTSeS fhersH B)3mRels
C)acIeliza D)&H

Fundamental Duties of Indian Constitution were taken from-

A)United Kingdom B)Ireland
C)Netherlands D)Russia
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 38) (objection.aspx?qwr=3610169687&qwer=38)

Question No. 39

EREE F0 R QF ¥ d6ftaT 87
A)fr¥e B)gi# & 1S fashod =gt
C)areFe aret D)grehr

With which of the following sports is the 'Rangaswamy Cup' associated?

A)Cricket B)None of the options
C)Basketball D)Hockey
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3610169687&qwer=39)

Question No. 40

S@em F g B 11, 13, 17, 19, 23, 29, 31, 37, 41, (.)
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A)51 B)48

C)54 D)43

Complete the series. 11, 13, 17, 19, 23, 29, 31, 37, 41, (...)

A)51 B)48
C)54 D)43
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 40) (objection.aspx?qwr=3610169687&qwer=40)

Question No. 41

TSI NYOT AlE TAF Iy & A # QX A FAor F ufe A3 Fr Rfeed wA F AT AR Srar
gl

A)ITFTR B)aas

C)31Ted D)fadesR

National Nutrition Month is observed in the month of___ every year to mark the country’s fight against
malnutrition.

A)October B)November

C)August D)September

Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3610169687&qwer=41)

Question No. 42

e fr wew S a9l g
A)FYST H@el B)3RTaell S@elr
C)ererfardy wgrzat D)areicl dgrfsat

Dhupgarh is the highest peak of-

A)Satpura Range B)Aravalli Range
C)Nilgiris Hills D)Garhjat Hills
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3610169687&qwer=42)

Question No. 43
W RaE o 9 Het A 61 fheliiiey i gt a7 #1384 & gl 4 Fhalheveer f IWAR & Jaaht U
IR 7o gfr 9 Freefieweer A WaR § afra T it #1198 gl 71T FF S 38 T F g 7 8
A)15 fasr B)16 fafr
C)14 frar D)17 fafr

A farmer travelled a distance of 61 km in 9 hours. He travelled partly by foot at 4 km/hr and partly on bicycle
at 9 km/hr. Find the distance travelled by him on foot.
A)15 km B)16 km
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CyH4km D)17 km

Answer Key : B Your Response : Not Answered Raise Objection(Question No. 43) (objection.aspx?qwr=3610169687&qwer=43)

Question No. 44
iy FE&T A RU T HE F GO @A A F U AREN? 9: 80 1 7 1 ?
A)50 B)48
C)82 D)78

Which number will best complete the relationship given below? 9:80::7: ?

A)50 B)48
C)82 D)78
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3610169687&qwer=44)

Question No. 45

R T e TS FIgSHarer W f&ua g
A)rafal ada B)&FrE#HA qdd
C)ucisit gdd D)STaTer gad

The famous hill-station Kodaikanal lies in-

A)Nilgiri hills B)Cardamom hills
C)Palani hills D)Javadi hills
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3610169687&qwer=45)

Question No. 46
39 Wt H, ) FYer F g A Ty o v ) s A o S afed w9 @ w9d 3ugEd § Y 1) @i
eifer TNt &1 2) FIE FreleT HUST 8T ¥l Frwd: | FE FOsr FIeNeT 7&F ¥l 1. FE afer H9sT 7EF ¥
Ay sy | 37 || gRome g B)hael fasshy | 3uged gl
C)dhael fashy Il 3uged gl D)fersshy | 3R Il gt 39ged g

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All shawls are carpets. 2) No carpet is cloth. Conclusions: I. No cloth is carpet.
Il. No shawl is cloth.

A)Either conclusion | or Il follows B)Only conclusion | follows
C)Only conclusion Il follows D)Both conclusion | and Il follow
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3610169687&qwer=46)

Question No. 47
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FrSt T TR et e | S1dl g A7 36 U7 T g aqr41 S(1am g oFar {4 (X),
(Y) 37 (Z) s et § fawmar 7 21 36 Eaweq &7 =41 hifor, S ki (2)
& TaT 91 gU =9 % agd Afd® q9 2

(2)

A/\A/\

Q (R) (S)

GET IT ON
Google Play

A piece of paper is folded and a hole is made on it as shown in figures
(X), (Y) and (Z). Choose the alternative that closely resembles the
unfolded form of figure (Z).

()

/\/\A/\

Q (R) )

A |P B. |Q
C R D. |S
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3610169687&qwer=47)

Question No. 48



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

FARTST ot o St A S| SI1d] ¢ A7 36 U7 U g a7 Sdr g ster & (X),
(Y) 307 (Z) srtat | fam=m=r 741 2| 39 fFed &1 =24+ &, S A (2)
& [aT AIE g0 & & dgd Aleld aqT gl

i C]
i ? i |e i
(X) ¥) (Z)
o8 ° o o )
o o o o o -]
@ ° -] o =] L o ° o
o8

(?) @ (R) )

A piece of paper is folded and a hole is made on it as shown in figures
(X), (Y) and (Z). Choose the alternative that closely resembles the

unfolded form of figure (Z).

] i e :
w | B e
X) (¥) (Z)
o o o oo oo
o o f+] Q o
@ ° =] o -] o o @ :
a0

®) Q (R) ®)

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3610169687&qwer=48)

Question No. 49

Tehad $r il o5 F9gg A
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A)1623 B) 1561

C)1761 D)1671

When was the Third Battle of Panipat fought?

A)1623 B)1561
C)1761 D)1671
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3610169687&qwer=49)

Question No. 50
ffof@a &7 & A guer #r waueigEE o R A Re e wa #1 ser &1 e waut o
AT demR F AT FBHiEAR & 999 W f ad FAAf@T §) 3lcar a1 () AafETe & ar FtEe
waee 7 dRedgue @ @fRvl (i) FH F FH 10 a6t aF H@Ied H FiAG vEuS F ¥ F FH A ger ar
e Rraficareraravae 3 &7 & %7 6 auf & wer T B =T (ji) T RE & FAFA 7 JAy g F
T ¥ FT fRar @ WfRRUl (iv) 1 3rder 1994 Fr 40 af & FoT g P WU IR FE sHAEEAR (i) F
3T 3 Tl AWTEST H G Har ¢ Afdher (i) 7 & B v &7 3% Ph.D. e & 3R &7 & F74 5 af
N FA I § A I§ AGTer B sEIF F ASw S wfRwl A B 3FAeER (i) F T e welr
AAEST B G FT ¢, e 7 af & Ml 1 RAeTor 3era ¥ A I§ AHAT BT F AT AT AT 39
FfAF g ¥ Ph.D. § 3R o 10 ast ¥ v GEueT F reus < @ &1 9% 5W Re & FmA F
AR gl & ¥ H FA W A § AR 30H oA 26 IR, 1951 T g3 4Tl
A)3FHIGIR FT AT EIFET T FSTT T B)3#HIGAR T HATHT [STET 3EIFeY Pl Folell g
C)3er 39ared D)3#HicaR &I fogerd faar Sier =g

Study the following information carefully and answer the question given below. Following are the conditions
for selecting a coordinator for a training programmer on Industrial Relations. The candidate must: (i) Be a
post-graduate in Psychology or in Personnel Management. (ii) Have worked as a Personnel Manager in an
organization for at least 10 years or been teaching in a university/an institute for at least 6 years. (jii) Have
worked as a guest speaker in similar programme. (iv) Not be less than 40 years as on 1 April 1994. In case a
candidate satisfies all the other criteria EXCEPT (ii), but has obtained a Ph.D. in one of the fields in (i) and
has at least 5 years work experience should be referred to the Deputy Director. In case a candidate satisfies
all the other criteria EXCEPT (iii), but has more than 7 years teaching experience should be referred to the
Director. Usha is a Ph.D. in Personnel Management and has been teaching in an institute for the last 10
years. She has worked as a guest speaker in a similar programme and was born on 26 August 1951.

A)The candidate has to be referred to the Director B)The candidate has to be referred to the Deputy

director
C)Data inadequate D)The candidate has to be selected
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 50) (objection.aspx?qwr=3610169687&qwer=50)

Question No. 51
Rye Tam”|
A)(3, 5, 19, 13) B)(2, 31, 11, 21)
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CH11-195_3) D)3, 29, 2, 13)

Find the ODD one out.

A)@3, 5, 19, 13) B)(2, 31, 11, 21)

C)(11, 19, 5, 3) D)(3, 29, 2, 13)

Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3610169687&qwer=51)

Question No. 52

ffaf@a # ¥ B sl 7 ety (8-St Rue-asT a8 872
INETiccS B)f¥ER
C)3cdl e2r D)df@elaTg

Which of the following states does NOT have bicameral legislature?

A)Karnataka B)Bihar
C)Uttar Pradesh D)Tamilnadu
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 52) (objection.aspx?qwr=3610169687&qwer=52)

Question No. 53
TeoTrael, DaeRier 3R armee F REar s 972
A)eS SERIED
C)gefehef Il D)igeed AR

Who wrote Ratnavali, Priyadarshika and Nagananda?

A)Harsha B)Ashoka
C)Pulakeshin Il D)Chandragupta Maurya
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3610169687&qwer=53)

Question No. 54

ety & ol aERT Fr AT HrAd $.15000 §1 A vt FrAT F Iopad A 3 : 5 : 7 &, A FoA AEAN

& 1 AT F IT FZTI
A)%.15000 B)%¥.9000
C)%.21000 D)%.18000

The average price of three items of furniture is Rs.15000. If their prices are in the ratio 3 : 5: 7, find the price
of the cheapest item.

A)Rs.15000 B)Rs.9000
C)Rs.21000 D)Rs.18000
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3610169687&qwer=54)

Question No. 55
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34

36

38

40

How many squares are there in the given figure?

34

36

38

40

Answer Key : D

Your Response : D (Correct)

Raise Objection(Question No. 55) (objection.aspx?qwr=3610169687&qwer=55)

Question No. 56
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S W 11% 9 af $ir g7 F FAer: 3.5 af 3K 4.5

et 3aftEt & sarer fr TREAT Fr HAR $.412.50 41, dF 9AF TR Frder &
A)%.4250 B)%.3500
C)%.3250 D)%.3750

Two equal sums of money were lent at Simple Interest at 11% per annum for 3.5 years and 4.5 years
respectively. If the difference in interests for two periods was Rs.412.50, then each sum is:

A)Rs.4250 B)Rs.3500
C)Rs.3250 D)Rs.3750
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 56) (objection.aspx?qwr=3610169687&qwer=56)

Question No. 57

FafefEa o s s s s = Rumuwaarsaca
fererferiad drfershr f2u € aoi § vk o1 F =47 (i §) w1 290041 2|

AT HIAG
2014 288 98 3.00 23.4 83
2015 342 112 2.52 32.5 108
2016 324 101 3.84 41.6 74
2017 336 133 3.68 36.4 88
2018 420 142 3.96 494 98

9 2014 H 3T ad 2018 da 9y Tg &= # =i srqara sAra Hiform

A 15:17 B. |17:20

C. 20: 27 D |24:35
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Study the following table and answer the question given below it.
The following table represents the number of candidates appeared and qualified
in a competitive examination from different states over the years.

Item of Expenditure

Salary | Fuel & Transport Bonus | Interest on loans | Taxes
2014 288 98 3.00 23.4 83
2015 342 112 2.52 32.5 108
2016 324 101 3.84 41.6 74
2017 336 133 3.68 36.4 83
2018 420 142 3.96 49.4 98

Find the ratio between the expenditure on salary in the year 2014 to
that in the year 2018.

A 1517 B. 17-20
C. 20: 27 D. 24:356
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 57) (objection.aspx?qwr=3610169687&qwer=57)

Question No. 58
fafaf@a el A waueigEs 98 3R M Re v wa &1 3ar &)1 O aea-aeh, 3, s, fifd ik
udr FT 9T WA, @, saer, Seifaat AR Ferer B 3R & S, fevee, HeS, Hrewar AR A 7
@ & JfheT S0 A€ 6 3 A TE @Yl i) Far AR 9l AT rEr A=E F A8 @ € M s @
FE N T O Wamdr & AR a1 & e i) HAar dR FE, a1 O Fawr § 3R T & ShAW, IR T geEg
ryar FeT F A wa & i) AT T o ST & 3R T & AW iv) PRT F ® aer A/T T A
FAHR ¢ 3R a1 & ST v) Fel, Freprar F gt Tar § 3R el st A &1 vi) WP, Ha$ 3regEr
1§ & A W 1 vii) T FAER AL ¥ vili) FAER, eI F A€ W {1 FeR@T F § Fl R

Y}
A)3ifaar B)#=ir
C)rdr D)&If

Read the following information carefully and answer the question given below. Five friends—Mani, Anitha,
Rooba, Keerthi and Pavi are professor, sportsperson, doctor, engineer and artist by profession and live in
Kochi, Hyderabad, Mumbai, Kolkata and Chennai, but not necessarily in the same order. i) Rooba and Pavi
do not live in Kochi or Chennai, and neither of them is a sportsperson nor doctor. ii) Anitha and Mani are
neither an artist nor an engineer, and they do not live in Hyderabad or Kochi. iii) Keerthi is neither a doctor nor
a professor. iv) The person living in Kochi is neither an artist nor an engineer. v) Mani does not live in Kolkata
and Anitha is not a doctor. vi) The professor does not live in Mumbai or Chennai. vii) Pavi is not an artist. viii)
The artist does not live in Hyderabad. Who among the following is a sportsperson?
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AVAnitha B)Mani
C)Pavi D)Keerthi
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3610169687&qwer=58)

Question No. 59

A s T g 15 af ¥ AR TR 37 3 : 5: 7 F I A §, o TOd SR @5F N HY T )
A)15 ¥ B)9 a¥
C)21 a¥ D)18 a¥

The average age of three boys is 15 years. If their ages are in the ratio 3 : 5 : 7, find the age of the youngest

boy.

A)15 years B)9 years

C)21 years D)18 years

Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3610169687&qwer=59)
Question No. 60

R & U 7 wAfader asg wMeeT HfAFATH ganrT ST I

A)44ar B)32ar

C)42ar D)34ar

The word "secular” was inserted into Constitution of India by the Amendment Act.

A)44th B)32nd

C)42nd D)34th

Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3610169687&qwer=60)
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